26,1 3) 25kl @yl g ausJl)

A=)

9.077
—5.462

9.654
—9.378

5.536
—-3.073

2.78
-6.52

1.996
—3.653

5.241
—7.699

8.017
—-3.914

8.956
-4.496

6.951
—7.808

5.595
—-6.855

2.557
—3.268

3.404
—2.006

9.607
-4.897

2.029
—-2.105

0.199
—8.801
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9.128
—9.047

3.661
—4.472

1.406
-4.967

3.013
-6.084

9.087
—5.632

2w,

8.121
—9.085

5.272
—2.194

5.054
-9.668

7.467
-5.276

1.445
—-3.624
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26,1 3) 25kl @il jgausJl)

A =

powli LEWH]
9.077 5.241 2.557 9.128
-5.462 -7.699 —3.268 -9.047
3,615 2,458 - 0,711 - 0,081
9.654 8.017 3.404 3.661
-9.378 -3.914 —-2.006 -4.472
0,276 4,103 1,398 0,811 -
5.536 8.956 9.607 1.406
-3.073 -4.496 -4.897 -4.967
2,463 4,46 4,71 3,561 -
2.78 6.951 2.029 3.013
-6.52 -7.808 -2.105 -6.084
3,74 - 0,857 - 0,076 - 3,071 -
1.996 5.595 0.199 9.087
—3.653 -6.855 —-8.801 -5.632
1,657 - 1,26 - 8,602 - 3,455
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2w,

8.121
—9.085
0,964 -

5.272
—-2.194
3,078

5.054
—9.668
4,614 -

7.467
—-5.276
2,191

1.445
—-3.624
2,179 -
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